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L4 5 TG~k (B~ AT )

FF % 0 2% B 40.2%:+1 Digit 1} 5 & +2°C(4°F) L p
(el TP > %] B 40.1%21 Digit 2 2 5 & +1°C(2°F) 2 p
B R 2T B 2% B 0.2%21 Digit 14 p

S St 0.25 #

PID(F A # & & # v )&

W5 (P) 1 0~1000°C (2000°F) #% A B @ (1) : 0~1000 #)
MAPER(D) 1 0~300 £ 3 H 0 1~120 45

ARW : f #534 % #4024 1 0 2 100%

PD(F A # RESET)4:#!

WL % (P) : 0~1000°C (2000°F) #cA PR (D) : 0~300 #)
WGl s 1~120 45 B 00 3 100%

P($ f # RESET)#z 4]
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b3 (P) : 0~1000°C (2000°F) * &3k #) : 1~ 120 £
#4410 1 100%

ON/OFF #- i

¥ §E 0.1~ 100.0°C (°F);0~1000 (& i £ i » B in T /& » 4 p¥)
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el 4
ABILTR: DC12+20 V 40MA(S 4 ) » (F ‘B i)
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PR T 2 A S
1. 25 Ff -4 B A5 - 28 XF2xX
2. %-#c - 4% ¥ & Read & Write Word data map: Function code

[X03, X06 ]
W P LH ) B S FE B SEH
Ht
x0000 SV / ##03k =& OUTL / ii%] HiLt ~ LoLt 50 °C/°F 100.0 ~ 0.0 0.0 % x0001 < ON> Index code
. x0000 < OFF>
x0001 I ® ENAB / Fo#liE 5 Index code ﬁs?‘]ﬂﬂf*aﬁ BESV p#w590% SV p #iFs 5-@%5‘1%]5% B
x0001 < ON>
x0002 ol

x0002 < ATI>

x0003 < AT2>

x0004 < MAN>

. ¢l dkgk DP
0003 ROML / PCB g W 4 3% % 2k
X 2P AR &£ 0000 - &
x0004 ROMH / PCB &:f ¥4F 3% 2 2 000.0
’ 80.0 ~ -10.0 70.0 °C/°F 80.0 ~ -10.0 80.0 °C/°F 100.0 °C/~
x0005 | AISP / 4P g 2
F Range 9999 ~ -1999 999.9 ~ -199.9
. o) #cEk DP &
x0006 ALHY / ¥4 2 g% 0000 — & 000.0
0.0 °C/°F Range 1000 ~ 0 100.0 ~ 0.0
. x0000 <A.OFF> | x0008 < B.HI> Index code Index code ¥ % % it G4 3% &4 7
x0001 < A HI> HRESR RLAFER HLNER R ER R pER AR
x0002 < A.LO> BB T GHBEE SHNESR BLREF BLRER
x0003 <A. DIH> BEOAER BN ER B AL

x0004 <A.DIL>
x0005 <A. BDH>
x0006 <A.BDL>
x0007 AIFU / & A &5 i
x0007 <B. OFF>
x0008 < B.HI>
x0009 < B.LO>
x000A <B.DIH>
x000B <B.DIL>
x000C <B. BDH>

x000D <B. BDL>
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. x0000 < NONE>
x0001 < STDY>
x0008 AIMD / B 48 v 4e 35 it
x0002 < LATH> x0000 < NONE> Index code Index code # 4c#F7xficst % - %72 &
x0003 < STLA> WEREI PR - K EFLEFE T w4
. ol #@k DP
x0009 AIDT / B84 A2SP / & | & 000 -
x0004 4 ek 000.0 99:59 ~ 00:00 0 Sec/Min 100.0 “C/°F Range 9999 ~ -1999 999. 9
~-199.9
x000B | A2HY / ®4p3 g4 L TERD R
0000 - # 000.0 Range 1000 ~ 0 100.0 ~ 0.0 0.0 "C/°F
3. Read Only Word data map: Function code [ x03 , x04 ]

F5 Sl En % WAL Contents S hcH =
x1000 PVPvof PV + PVOF °C/°F
x1001 SVSvof SV + SVOF °C/°F
x1002 OUTL ﬁ%]ﬂ:'ﬁ s vk %
x1003 PCBTemp PCB & & °C/°F
x1004 Current CT & A

x0000 =5 #iEMFE x0100 p&FmE-44(SV 5ZP1%) x0
101 pdFE-B42E x0102 p&FE-%1B2rLEx 0103
poFd-%1BELEx 0104 pHigE-%2B2L3x 0105 p
#FE-P. LD Gleadr? x 0110 AdFE—44(uSVx 90% 5P
Box 0111 Adigi-F42E x0112 pHwFi-%1BIE LiEx0
113 p&FE-$1Bf £3x0114 poFE-52B223x011
5 pewE-P LD thdAdrd x 02 _ _ iﬁéiis?]ﬂi x03__ P.L D
x1005 StatusNo Al ox 1 #EaL (ﬁiﬁ ~ OPEN) x 2 _ _ _ #&3a i (AD # i< 75
BELEF) x3 ___ #FAL GemuME s x4 _ | _ B

AL (pdFEF L8 x5 _ gl PV 3 HILD x

B L (PV ™t LOLT)

6 _
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Out status reading (0:0ff,1: On) Bit 0 : Outl Bit : Not used (Always
0) Bit : Alarml Bit : Alarm2 Bit : PCB Alarm Bit : Not used (Always
0) Bit : Not used (Always 0) Bit : Not used (Always 0) Bit : Not
used (Always 0) Bit : Not used (Always 0) Bit : Not used (Always
0) Bit : Not used (Always 0) Bit : Not used (Always 0) Bit : Not
x1006 StatusBit Bit
used (Always 0) Bit : Not used (Always 0) Bit : Not used (Always

0)
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